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1000
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3000

2000

1000
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3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,0,0

X~ 1 sspe+U4 [ 25
[ po 4194+ 0.0
pl -34.16 + 0.00

[ C =29.28 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,4

Tnun 4, r5e+04 [ 25
- pO 4238+ 0.0
Pl 3432000

[ C =29.14 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (O 0,8

-~ 1 nuz,ugye+ud / 25
[ pO 4300+ 0.0
pl -37.05+ 0.00

TP delay [ns]

TVC(cbch) (0,0,12

~ 1 nug, syye+Us / 25
F= PO 4296+ 0.0
pl -35.89 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,1

AT 1 nuz, 3s0e+u4 [ 25
o Y 4200+ 0.0
pl -34.31+ 0.00

[ C =29.15[ps/ch]

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

- 1nug, z29e+04 [ 25
- 4241+ 0.0
-34.62 £ 0.00

[ C =28.89 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 0,9

T, rg3e+u4 [ 25
= pO 4299+ 0.0
pL -35.74.+ 0.00

TP delay [ns]

TVC(C, bch) (0,0,13

T 114, 048e+U5 / 25
- 4308+ 0.0
-35.19+ 0.00

[ C =28.42 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]
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1000
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1000
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2000

1000

TVC(cbch) (0,0,2)

- C = 29.26 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,6

X~z zi1e+U04 /25
F po 4202+ 0.0
F pl -34.18 + 0.00

FC=30.11 [psich] ™. 1

50 10‘0
TP delay [ns]

TVC(cbch) (0, 0 10

T 3. zoe+us /25
=, DO 4318+ 0.0
X pl -35.86 + 0.00

T nub Uz1e+u4 [ 25
== pO 4232+ 0.0
[ pl -33.21% 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,14

-1 nug, 149e+U5 / 25
= po 4292+ 0.0
L pl -34.87 + 0.00

- C = 28.68 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]
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2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,3

R Ui Suae+ud | 25
. PO 4199+ 0.0
pl -33.54 + 0.00

[ C=29.81[ps/ch] . ]
1 i

TP delay [ns]

TVC(c,b ch) (0 0,7

- 11y pbbe+ud [ 25
- PO 4260+ 0.0
Pl 3458+ 000

[ C =28.92 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, O

T nug 5Ube+l}5/25
pO 4324+ 0.0
-35.39+ 0.00

[ C =28.26 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (0,0,15

-1 b, uBYe+US / 25
- 4293+ 0.0
-34.17 + 0.00

[ C=29.26 [ps/ch] . ]

PR PR S S |
50 100

TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

TVC(cbch) (0,1,0

A~ 1 nui dz0e+04 /25
e po 4240+ 0.0
-34.27+ 0.00

[ C =29.18 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0.1,4

- 1L pbYe+ud / 25
=5 po 4266+ 0.0
pl -34.47 + 0.00

[ C =29.01 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (O 18

s rve+ua /25
= pD 4268+ 0.0
p1 -35.07:+ 0.00

TP delay [ns]

TVC(cbch) (0,1,12

1z, go4e+05 / 25
3 po 4322+ 0.0
pl -37.01+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,1)

A 1 i daae+ud | 25
po 4251+ 0.0
pL -35.09 & 0.00

TP delay [ns]

TVC(c,b ch) (0 1,5

[ C =28.97 [ps/ch] 7]

“nun 150e+04 / 25
4273+ 0.0
-34.52 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0 1,9

1 nug guBe+Us / 25
pO 4279+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, l 13

-1 nuiL voye+Us / 25
pO 4330+ 0.0
-37.73+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

TVC(cbch) (0,1,2)

X~ 1L oB/e+u4 [ 25
po 4275+ 0.0
p1 -36.02:+ 0.00

TP delay [ns]

TVC(cbch) (0,1,6

- 1nuig.01be+u4 / 25
pO 4288+ 0.0
p1 -35.26+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 1, 10

1L zgye+U6 / 25
po 4291+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(cbch) (0,1,14

1000

1L pooe+U5 / 25
pD 4312+ 0.0
pl -36.77 + 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,1,3

A~ 1 nuzUsse+ud [ 25
- po 4275+ 0.0
pL -36.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 1,7

= 1 i Obde+us / 25
po 4288+ 0.0
pl -34.44 % 0.00

C =29.04 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (0, l

T 4bbe+U6/25
pO 4290+ 0.0
p1 -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 1 15

T nuiz.po1e+U5/ 25
- pO 4318+ 0.0
p1 -36.83+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (0,2,0)

T rze+ud /25
pO 4262+ 0.0
p1 -36.29 + 0.00

TP delay [ns]

TVC(cbch) (02,4

-1 nuibyyve+ud / 25
pO 4244+ 0.0
p1 -35.67:+ 0.00

- C =
1 1 -
50 100
TP delay [ns]
TVC(cbch) (0,2,8)
- 1nu, ry4e+04 [ 25
= pO 4285+ 0.0
pl -35.64 :;‘
L]
TP delay [ns]
TVC(c,b ch) (0o, 2 12

T rnuig.4r4e+05 / 25
pO 4301+ 0.0
pl -36.68 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

AT 1 nuiLb33e+u4 [ 25
= po 4255+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

~1nuz.ugre+u4 / 25
e, pO 4264+ 0.0
p1 -36.54 + 0.00

50 150
TP delay [ns]

TVC(eb,oh)=(0, 2,9

<1 nup.2ybe+U5 / 25
po 4313+ 0.0
p1 -36.23+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (0, 2 13

T inuzas/e+u5/ 25
frvase pO 4287+ 0.0
-36.71+ 0.00
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50 100

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (0,2,2)

X~ 1L zole+u4 [ 25
. po 4271 0.0
[ p1 -35.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

T, 18ze+04 | 25
-, pO 4261+ 0.0
- pl -36.31+ 0.00

TP delay [ns]

TVC(CbCh) (0, 2 10

1 nuiLbEze+U6 / 25
= po 4308+ 0.0
L pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (0,2 14

T rnuzgz1e+05 / 25
e, pD 4303+ 0.0
| pl -37.06 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (0,2,3)

po 4281% 0.0
pL -36.57+ 0.00

A1 nuiLYyse+ud / 25

TP delay [ns]

TVC(c,b ch) (0 2,7

= po 4289+ 0.0
p1 -37.14+ 0.00

- nun 1z2ze+05 / 25

TP delay [ns]

TVC(eheh=(0, 2,

pO 4302+ 0.0

s nurg, /s/e+u6/25

35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 2 15

B
E pO 4300+ 0.0
p1 -36.86 + 0.00

nuy,uase+Us / 25

TP delay [ns]
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1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

po

pl

A~ 1 nui guae+ud 25
4260+ 0.0
-36.14 + 0.00

TP delay [ns]

TVC(cbch) (0,34

Crna15/e+04 /25
4245+ 0.0
-34.81+ 0.00

ome. pO
pL
[ C =28.73 [ps/ch] 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (O 3,8)
S rnun yse+ud /25
= pO 4278+ 0.0
pL -34.71+ 0.00
1 1 -
50 100
TP delay [ns]
TVC(Cbch) (0o, 3 12)
T g 1r3e+u5 / 25
= po 4314+ 0.0
pl -36.66 + 0.00

TP delay [ns]
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1000
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

po

AT L, 32e+u4 [ 25
4257+ 0.0
-34.98 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (0 3,5

-1 nuz.0use+ud / 25
4251+ 0.0
-35.29 + 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

T nu, 728e+U5 / 25
4288+ 0.0
-35.1+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (0, 3 13

-1 nuiz.yyye+us / 25
4302+ 0.0
-35.1+ 0.0

il
100

TP delay [ns]

4000
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2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000
3000

2000

TVC(cbch) (0.3,2)

-36.13 + 0.00

T Lsoe+ud /25
- pO 4272+ 0.0
L pl -36.13+ 0.

TP delay [ns]

TVC(cbch) (0,36

=/ nug,

= PO
p1

182e+U4 | 25
4272+ 0.0
-36.72 + 0.00

TP delay [ns]

TVC(eb,oh)=(0, 3, 10

pO

pl

© 1 nuiLbrye+U6 / 25
4290+ 0.0
-34.82+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0,3 14

1000

~ 1 nuig.uLoe+Us / 25
4324+ 0.0
-36.22+ 0.00

P R T
50 100

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

e po

AT 1 nuizbzoe+u4 | 25
4283+ 0.0
-35.9+ 0.0

pl

TP delay [ns]

TVC(c,b ch) (0 3,7

AT

E po
pl

11e+U5/25
4280+ 0.0
-35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

pO

pl

T, 5ue+u6125
4303+ 0.0
-35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (0,3,15

A1,

1 10e+U5 /25
4317+ 0.0
-35.19+ 0.00

TP delay [ns]
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1000
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (0,4,0)

A7 nuiLss0e+u4 / 25
po 4265+ 0.0
-37.01+ 0.00

1
50 100

TP delay [ns]
TVC(cbch) (O 4,4)
Tnu 1z73e+04 / 25
P, pO 4260+ 0.0
pl -36.38 ::‘
e E
1 L -
50 100
TP delay [ns]
TVC(cbch) (0.4,8)
-1 nuzb5oye+u4 / 25
e pO 4277+ 0.0
—34.911?‘
[ C =28.64 [ps/ch]™_ ]
1 L -
50 100
TP delay [ns]
TVC(c,b ch) (0o, 4 12

~1nuy.zove+u4 | 25
pO 4286+ 0.0
pl -36.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1

AT 1 nunL rsye+ud [ 25
Foee. po 4243+ 0.0
pl -35.45 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

“nu3b/e+u4 /25
4263+ 0.0
-36.8 + 0.0

TP delay [ns]

TVC(c,b ch) (0 4,9

T nuz3u1e+us / 25
- pO 4290+ 0.0
-34.95+ 0.00

C =28.61 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 4 13

T nuws s20e+ud / 25
pO 4294+ 0.0
pl -36.33+ 0.00

PR BRSNS |
50 100

TP delay [ns]
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4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (0,4,2)

1000

A7 nug s44e+04 /25
- po 4283+ 0.0
L pl -38.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (04,6

S rnuznle+u4 [ 25
e pO 4285+ 0.0
[ pl -37.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 4 10

1 nu.403e+U5 / 25
po 4310+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (0,4,14

~ 1 nuy.488e+04 | 25
pD 4285+ 0.0
pl -36.62 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3

AT rnuiLyloe+ud /25
= po 4287+ 0.0
p1 -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

S U b ze+u4 /25
- pO 4278+ 0.0
p1 -37.13+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 4

T, zube+u5/25
4316+ 0.0
-36+ 0.0

TP delay [ns]

TVC(c,b ch) (0, 4 15

<1 nus.yyve+ud / 25
- pO 4296+ 0.0
p1 -37.39+ 0.00

TP delay [ns]
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1000

TVC(cbch) (0,5,0

A7 1nun 3soe+u4 /25
poee, po 4237+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (05,4

-1 bzze+u4 | 25
4249+ 0.0
-35.2+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 58

©nuig pzve+u4 | 25
= po 4237+ 0.0
p1 -34.42 + 0.00

- C =29.06 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,5,12

Tz ylie+us/ 25
pO 4247+ 0.0
pl -34.62 + 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (0,51

AT 1nuiLbL/e+u4 /25
- po 4238+ 0.0
p1 -37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

~nui by re+u4 [ 25
e pO 4240+ 0.0
pL -36.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 59

T nug. 1s5e+U5 / 25
- po 4255+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,5,13

Inun 1se+us /25
4255+ 0.0
-34.51+ 0.00

TP delay [ns]

4000
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1000
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3000
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1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,5,2)

T Lave+ud /25
- pO 4242+ 0.0
o pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (0,56

T 3r8e+04 [ 25
- pO 4249+ 0.0
3 pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

1000

1 nuiL334e+06 / 25
F DO 4270+ 0.0
L pl -35+ 0.0

TP delay [ns]

TVC(cbch) (0,5,14

1000

~ 1 nuiLgn4e+05 / 25
e, pD 4260+ 0.0
L p1 -35.49 + 0.00

PR SR T
50 100

TP delay [ns]
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1000
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1000

4000
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1000

TVC(cbch) (0,5,3

AT 1 nuiLoyye+ud [ 25
peee po 4242+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (0 57

- 1nuay 29ze+04 | 25
pO 4256+ 0.0
pL -33.78+ 0.00

[ C=29.61[ps/ch] ™. 7
& o
TP delay [ns]

TVC(c,b ch) (0, 5

T sbze+u6/25
pO 4263+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

T nuiz zg/e+U5/ 25
Frnsee, po 4257+ 0.0
p1 35+ 0.0

TP delay [ns]
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1000

TVC(cbch) (0,6,0)

A7 1 nui oyse+ud / 25
po 4265+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (06,4

T LBz ie+u4 [ 25
pO 4253+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

T rnug.lr3e+u4 /25
po 4272+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

-1 uig.pove+us / 25
4275+ 0.0
-34.81+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (0,6,1)

AT 1 nuiLbooe+ud [ 25
po 4255+ 0.0
pl -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

~ 1 nui foze+u4 [ 25
pO 4235 0.0
pL -35.17+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

~ 1 nug goye+Us / 25
4282+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (0,6,13

T inun g Bye+us /25
pO 4270+ 0.0
pl -35.01+ 0.00

TP delay [ns]

4000
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1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (0,6,2)

A7 roze+04 /25
=, po 4260+ 0.0
o pl -356+ 0.0

3000

TP delay [ns]

TVC(cbch) (06,6

- rnuz 714e+04 [ 25
-, pO 4254+ 0.0
3 pl -35.79 0.00

TP delay [ns]

TVC(cbch) (0, 6 10

1 nuiL3z4e+06 / 25
po 4301+ 0.0
pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (0,6,14

T 1nuiLgnze+U5 / 25
4276+ 0.0
-35.71+ 0.00

PR IR SRR |
50 100

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3

AT rnuzz1oe+ud [ 25
poee, po 4278+ 0.0
pl -36.22+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

-1 nug 10Ye+u4 / 25
4249+ 0.0
-34.8+ 0.0

TP delay [ns]

TVC(c,b ch) (0, 6

T biée+l}6/25
pO 4313+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T nuiz.a10e+U5 /25
po 4276+ 0.0
-35.44+ 0.00

TP delay [ns]
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1000

TVC(cbch) (0,7,0)

X~ 1z uose+U4 [ 25
po 4262+ 0.0
p1 -37.39+ 0.00

TP delay [ns]

TVC(cbch) (0,7,4

S rnuz4ze+u4 [ 25
po 4279+ 0.0
pl -35.37 + 0.00

- C N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (0,7,8)
Ty 14/e+04 / 25
= pO 4293+ 0.0
pl -36.54 :;‘
TP delay [ns]
TVC(c,b ch) (0o, 7 12

T 1z1e+05 /25
pO 4273+ 0.0
pl -34.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (0,7,1

A1z Qave+Ua | 25
=3 po 4273+ 0.0
pL -37.67+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nuz.ylye+ud / 25
- pO 4283+ 0.0
p1 -36.04 + 0.00

50 150
TP delay [ns]

TVC(c,b ch) (0 7,9

. Hm441::e+u5 125
po 4296+ 0.0
pl -36.55 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 7 13

Tinun3e+u5 /25
pO 4294+ 0.0
p1 -36.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,7,2)

X~ 1 iz zove+u4 [ 25
- po 4297+ 0.0
L pl -37.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

©1nub,049e+04 / 25
- pO 4281+ 0.0
- pl -35.28 + 0.00

TP delay [ns]

TVC(eb,oh)=(0, 7, 10

T nuiLbr1e+U6 / 25
- po 4302+ 0.0
- pl -35.88 + 0.00

TP delay [ns]

TVC(cbch) (0,7,14

1000

-1z 3use+Us / 25
— pD 4293+ 0.0
L pl -35.68 + 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

A1 nuig.o8/e+ud [ 25
- po 4291+ 0.0
pL -37+ 0.0

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nui 4o8e+U5 / 25
e, pO 4274+ 0.0
p1 -34.66+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

EEALEVX Ub‘Je+U6/25
pO 4304+ 0.0
p1 -36.72+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

- ugur4e+U5 [ 25
pO 4304+ 0.0
-36.05 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,0)

T r1e+ud /25
pO 4274+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (08,4

[ C =28.61 [ps/ch]

T bzie+ud [ 25
pO 4275+ 0.0
p1 -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 8,8

©rnuig.plae+u4 [ 25
po 4296+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(cbch) (0,812

1z, 5o0e+U5 / 25
pO 4312+ 0.0
pl -37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT rnunLrzze+ud [ 25
Fee, po 4257+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

-1 nui byse+ud / 25
- 4268+ 0.0
-34.36 + 0.00

[ C =29.10 [ps/ch] 7]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

~ 1 nug. ysye+us / 25
e DO 4307 0.0
pl -35.81+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,8,13

Tonanz.z9e+u5/ 25
= pO 4323+ 0.0
pl -36.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

A™ 1 nuiLyise+ud /25
__— po 4271+ 0.0
o pl -35.7+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,86

T g6 /e+04 [ 25
- pO 4292+ 0.0
[ pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

T L2 (e+U6 / 25
__ 4330+ 0.0
L -36.8 + 0.0

TP delay [ns]

TVC(cbch) (0,814

1000

Tz go1e+U5 / 25
- pD 4322+ 0.0
L pl -37.39+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT 1 nuaiz.zose+ud [ 25
- po 4290+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

-1 nui Uz3e+us / 25
pO 4295+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T ab4e+u6/25
4319+ 0.0
-36.5 + 0.0

TP delay [ns]

TVC(C, bch) (0,815

T 1nuignlae+U5 [ 25
Froeee, po 4311+ 0.0
p1 -36.38 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

K- 1nui r1re+04 /25
po 4241% 0.0
p1 -35.55+ 0.00

TP delay [ns]

TVC(cbch) (0,9,4

T i 712e+04 [ 25
pO 4239+ 0.0
p1 -35.39+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (O 9,8

=, i5ve+ud 1 25
po 4273+ 0.0
p1 -35.37+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

-1z yose+us / 25
4274+ 0.0
-35.2+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

A1 i Saae+ud | 25
po 4236 0.0
pL -34.91 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nui B34e+04 / 25
pO 4257+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

-1 nu.guye+us / 25
pO 4263+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 9 13

Srnu ze+05/25
Frvene, po 4250+ 0.0
pl -34.35+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (0,9,2)

A~ 1nuzO1ae+u4 | 25
po 4259+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

©nug,2ue+u4 / 25
pO 4257+ 0.0
pl -35.65 + 0.00

10‘0
TP delay [ns]

TVC(eb,oh)=(0, 9, 10

1 nuiLbo3e+U6 / 25
po 4294+ 0.0
p1 -35.67  0.00

1
100

TP delay [ns]

TVC(cbch) (0,9,14

1 nuiz.4z0e+05 / 25
pD 4260+ 0.0
pl -34.03+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

A1 nuiz445e+04 | 25
po 4258+ 0.0
pl -35.45+ 0.00

TVC(c,b ch) (0 9,7

1
100

TP delay [ns]

- nui 118e+05 / 25
pO 4273+ 0.0
p1 -36.59+ 0.00

TVC(c,b ch) (o, 9

TP delay [ns]

T ab/e+u6/25
pO 4291+ 0.0
-36.38 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0, 9 15

71 nuis.a9ye+U5 / 25
po 4276+ 0.0
p1 -34.79+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

T rnuiLploe+u4 / 25
- pO 4264+ 0.0
p1 -34.1+ 0.0

[ C =29.33 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,104

-1 i Baze+u4 | 25
- pO 4285+ 0.0
pl -36.52:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T, r34e+04 | 25
= po 4272+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (0,10,12

- rnuizus4e+Us / 25
3 po 4317+ 0.0
pl -36.55+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

A” 1 nuiLbloe+ud /25
fre. po 4261+ 0.0
p1 -34.26+ 0.00

[ C=29.19 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

=1 Uz usbe+u4 / 25
- pO 4294+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(c, bch) (0, 10 9

Tonanyzze+u5 /25
= pO 4291+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (010,13

T inuiLg13e+U5/ 25
pO 4310+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (o, 10 2)

- C = 28.90 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0.10,6

- nuig 115e+04 / 25
- pO 4294+ 0.0
[ pl -36.67 + 0.00

T rnuiLprae+ud [ 25
. pO 4270+ 0.0
N p1 -34.6+ 0.0

TP delay [ns]

TVC(cbch) (0, 10 10

Tnunyne+U5 /25
F DO 4303+ 0.0
L pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (0.10, 14

1000

T rnuiLby1e+Us / 25
__ pD 4320+ 0.0
L pl -36.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT 1L sre+ud [ 25
o po 4285+ 0.0
p1 -34.78 + 0.00

[ C =28.76 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,7

- Uy yz3e+u4 / 25
pO 4317+ 0.0
pL 37.11 % 0.00

TP delay [ns]

TVC(cbch) (o, 10 1

~ 1 num.usse+Us / 25
- pO 4298+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

Tinuizar(e+u5/ 25
- pO 4313+ 0.0
p1 -37.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (0,11,0)

A7 1 nui p44e+04 /25
4214+ 0.0
p1 -34.57 + 0.00

TP delay

TVC(cbch) (0,11,4

[ns]

T/ re+V4 [ 25
4220+ 0.0
-33.99+ 0.00

[y po
p1
3000 - N
2000 |- N
wor C =29.42 [ps/ch] ™, ]
% i
TP delay [ns]
TVC(c,b, ch) (0, 11 8) —
T nus 135e+U4 5
A0, po 4243:‘
-34.63+ 0.00
3000 - T
2000 7
10 C = 28.88 [ps/ch] ™, 7]
4 % i
TP delay [ns]

4000 =

3000

2000

1000

TVC(cbch) (0,11, 12

X~ 1 g 485e+U5 / 25
po 4266+ 0.0
pl -35.56 + 0.00

TP delay

PR RS SR B
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

4000 E,

3000

2000

1000

TVC(Cbch) (0,11,1)

e, po

AT 1nuiLro/e+u4 [ 25
4218+ 0.0
p1 -35.14+ 0.00

TP delay

TVC(cbch) (0,11,5

[ns]

- nuiLyuse+usd / 25
4247+ 0.0
pl -34.79 + 0.00

TP delay

TVC(eh.eh)=(0, 11, 9

[ns]

<1 nu bbYe+U5 / 25
4260+ 0.0
p1 -34,55 + 0.00

TP delay

TVC(cbch) (0,11,13

pO
p1

[ns]

T 1 nui g44e+U5 / 25
4261+ 0.0
-35.4+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (0,11, 2)

=, PO

A~ 1nuzuire+ud /25
4232+ 0.0
p1 -35.04+ 0.00

TP delay

TVC(cbch) (0,11,6

= PO

[ns]

-1z yoze+ud | 25
4270+ 0.0
pl -35.89 + 0.00

TP delay

TVC(cbch) (0,11, 10

[ns]

X~ 11 394e+06 / 25
po 4240+ 0.0
p1 -34.03 % 0.00

TP delay

TVC(cbch) (0,11, 14

[ns]

K71 nuiL syye+U5/ 25
po 4274+ 0.0
pl -35.97 + 0.00

TP delay

PR SR T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

e po

AT 1 nus.uzse+u4 [ 25
4241+ 0.0
p1 -34.97 + 0.00

TP delay

TVC(cbch) (0,11,7

pO

[ns]

S nun g uge+ud [ 25
4250+ 0.0
pl -34.12+ 0.00

TP delay

TVC(e.b.eh=(0, 11, 11

pO

[ns]

T nuiL by /e+u6 / 25
4258+ 0.0
p1 -34.97 + 0.00

TP delay

TVC(cbch) (0,11,15

[ns]

T nuiz ssae+U5 / 25
4264+ 0.0
p1 -34.72 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (o, 12 0)

T rnuiLsue+u4 [ 25
= pO 4266+ 0.0
p1 -35.35+ 0.00

TP delay [ns]

TVC(Cbch) (o, 12 4

nur1.9e+04 /25
== po 4278+ 0.0
pl -37.71+ 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(0, 12,8

- 1, rbze+U4 | 25
e po 4263+ 0.0
p1 -36.63+ 0.00

TP delay [ns]

TVC(Cbch) (o, 12 12

~ 1, (uze+U5 / 25
po 4274+ 0.0
pl -35.52+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT 1 nuiLBb3e+u4 / 25
= po 4278+ 0.0
p1 -37.61# 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 5

- nuiz1ize+u4 /25
== po 4269+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 12,9

T nug.3/9e+U5 / 25
- po 4279+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 12 13

Tnunz2.58e+u5 /25
frvase pO 4277+ 0.0
p1 -36.03+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (0,12,2)

X~ 1L Bz /e+04 [ 25
-, po 4273+ 0.0
[ p1 -36.38+ 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 12 6

-1 g yobe+ud / 25
e pO 4272+ 0.0
[ pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

©1nuy.447e+05 / 25
po 4288+ 0.0
p1 -36.22 + 0.00

TP delay [ns]

TVC(CbCh) (o, 12 14

Tz rore+U5 /25
pD 4282+ 0.0
pl -35.63+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

A~ 1 nuiLygse+ud | 25
- po 4298+ 0.0
pL -36.88:+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 12 7

= Ui Uae+US / 25
frmns, po 4299+ 0.0
p1 -37.13+ 0.00

TP delay [ns]

TVC(Cbch) (0, 12 11

TinuiLo//e+u6 /25
po 4295+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (0, 12 15

T inug. 1 ze+U5/ 25
4281+ 0.0
-36.1+ 0.0

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

- 1 i s4ae+04 [ 25
pO 4274+ 0.0
p1 -35.93+ 0.00

TP delay [ns]

TVC(Cbch) (o, 13 4

4000

- iU 93pe+u4 [ 25
=5 po 4295+ 0.0
pl -36.95+ 0.00

3000 [ ]
2000~ 7]
1000~ C ]
0, = 00 -
TP delay [ns]
TVC(eboh)=(0,13,8)
T rnuzglie+us / 25
4000 o pD 4315+ 0.0
Pl -34.36+0.00
3000 - 71
2000 7]
wor C =29.10 [ps/ch] ™~
| -

0

50

1
100

TP delay [ns]

TVC(Cbch) (o, 13 12

4000

3000

2000

1000

3,12)
1 nuy, 123e+U5 / 25
= po 42%:‘
pl -34.31+ 0.00
[C=29.15[ps/ch] ™, 1]

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

AT 1 nuz,1z8e+u4 [ 25
= po 4274+ 0.0
p1 -36.86 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 5

~ 1 nuylse+ud / 25
== po 4297+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(eb.oh)=(0, 13,9

1 nuiLysze+u6 / 25
- pO 4327+ 0.0
p1 -34.22+ 0.00

[ C =29.22 [ps/ch] . ]

50

1
100

TP delay [ns]

TVC(c,b ch) (0, 13 13

= pO

p1

Tinur.gl/e+U5/ 25
4302+ 0.0
-35.65+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000 =

:

woo;— C =29.06 [ps/ch] - '
! : "

4000

3000

2000

1000

TVC(CbCh) (0,13,2)

X~ 1 nuis 434e+04 [ 25
F-. po 4277+ 0.0
[ p1 355+ 0.0

3000

TP delay [ns]

TVC(Cbch) (o, 13 6

= 1 nuz,uuye+u5s / 25
- pO 4318+ 0.0
[ pl -37.15+ 0.00

TP delay [ns]

TVC(eb,ch)=(0, 13,10

1 nuig, 158e+U6 / 25
po 4341+ 0.0
p1 -34.41+ 0.00

TP delay [ns]

TVC(CbCh) (o, 13 14

pD
pl

T Booe+U5 /25
4299+ 0.0
-34.94 + 0.00

- C = 28.62 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

A~ 1 nug,308e+U4 [ 25
- po 4300+ 0.0
pL -37.18+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 13 7

1 nui gloe+us / 25
= po 4306+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(Cbch) (0, 13 11

~ 1 nug.usle+us / 25
po 4360+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (0, 13 15

Tonan 1 1oe+u6 /25
4318+ 0.0
p1 -36.42 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (o, 14 0)

b po

T L sye+ud /25
4241+ 0.0
p1 -36.43 + 0.00

TP delay

TVC(cbch) (0,14,4

[ns]

1e+04 /25
4259+ 0.0
-34.64 + 0.00

== po -
pl
[ C =28.87 [ps/ch]™_ ]
o+ o
TP delay [ns]
TVC(cbch) (o, 14 8

- 1w, Qve+ud | 25
po 4259+ 0.0
p1 -35.35+ 0.00

TP delay [ns]

TVC(Cbch) (o, 14 12

1z pobe+Us / 25
4278+ 0.0
-35.9 + 0.0

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

4000 [,

3000
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TP delay [ns]

TVC(c,b ch) (1, 5

-1 nui y1be+u4d / 25
- pO 4283+ 0.0
pL -36.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T nuz gy /e+u5 [ 25
- pO 4314+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

T onayr3ge+ud [ 25
pO 4304+ 0.0
-35.72+ 0.00

il
100

TP delay [ns]
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1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,5,2)

K™ nuig zae+u4 | 25
-, po 4259+ 0.0
L pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,556

Tl rge+u4 | 25
- pO 4301+ 0.0
L pl -36.66 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

1000

1 nuiLUUbe+U6 / 25
- po 4323+ 0.0
[ p1 -36.73+ 0.00

TP delay [ns]

TVC(cbch) (1,514

pD
pl

= 1 nuip,yoye+u4 / 25
4302+ 0.0
-35.44 £ 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

A~ 1 nuizz3ye+ud | 25
- po 4266+ 0.0
pL -35.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 57

-1 nu ggge+ud | 25
[=s, po 4301+ 0.0
p1 -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

- pO

Ty, 54/e+u5/25
4331% 0.0
p1 -36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

Tinuysie+rud /25
pO 4313+ 0.0
p1 -35.54 + 0.00

TP delay [ns]
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3000

2000

1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

T rve+ud /25
pO 4253+ 0.0
p1 -37.06 + 0.00

TP delay [ns]

TVC(cbch) (16,4

- i S9se+ud [ 25
po 4280+ 0.0
pl -36.72+ 0.00

TP delay [ns]
TVC(cbch) (1 6,8) —
T (z1e+u4 5
= pO 4278:‘
-34.79+ 0.00
- C=28.74 [ps/ch]\_ 1]
- o
TP delay [ns]
TVC(c,b ch) (1, 6 12

~ 1 nuiL4zve+U5 / 25
po 4290+ 0.0
pl -37.22+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,6,1)

A7 1 nuiLBobe+u4 / 25
po 4257+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

TVC(c,b ch) (1, 6

- nui o8e+u4 [ 25
pO 4276+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

T nuiL313e+U5 / 25
pO 4296+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 6 13

T inup.r41e+04 / 25
pO 4286+ 0.0
pl -36.38 + 0.00

TP delay [ns]
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4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (1,6,2)

1000

AT 1 ssve+ud [ 25
- po 4265+ 0.0
L pl -37.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (16,6

- rnunLBzye+u4 [ 25
- pO 4278+ 0.0
[ pl -35.63+ 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 6, 10

1o, r84e+U5 / 25
po 4305+ 0.0
p1 -34.86 % 0.00

TP delay [ns]

TVC(cbch) (1,614

1 nup,y3ye+u4 [ 25
pD 4279+ 0.0
pl -36+ 0.0

PR R R S R |
50 100

TP delay [ns]
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1000
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1000

TVC(cbch) (1,6,3)

i Zuserud | 25
e pO 4270+ 0.0
pL -35.84 £ 0.00

TP delay [ns]

TVC(c,b ch) (1 6,7

-1 i Ygse+u4 / 25
- pO 4276+ 0.0
p1 -35.06+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6

ERALUR 4zue+u5/25
po 4294+ 0.0
p1 -34.52+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6 15

T nuiuyze+U5 / 25
4271+ 0.0
-36.11 + 0.00

PR R SRR |
50 100

TP delay [ns]
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1000
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1000
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1000

TVC(cbch) (1,7,0)

b, po

A7 nun sose+ud / 25
4242+ 0.0
-35.37 + 0.00

pl

TP delay [ns]

TVC(cbch) (17,4

=i g1se+u4 / 25
4257+ 0.0
-36.76 + 0.00

= pO
pl
e -
5(‘) 10‘0 =
TP delay [ns]
TVC(cbch) (1 7,8
o pD

©1nuig.byze+u4 | 25
4278+ 0.0
-36.37 + 0.00

p1

TP delay [ns]

TVC(cbch) (1,7,12

pO
p1

TrnuiLzr1e+05 /25
4282+ 0.0
-35.37 + 0.00

TP delay [ns]
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1000
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1000

4000 [,
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1000

TVC(cbch) (1,7,1)

e, po

AT 1 nuiLozoe+ud [ 25
4261+ 0.0
-36.28 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 7

-1 nu gzee+u4 [ 25
4254+ 0.0
-36.51+ 0.00

P pO
pL
e -
1 -
50 100
TP delay [ns]

TVC(c,b ch) (1,7,9

X~

po
pl

18oe+u5 / 25
4276+ 0.0
-35.67 + 0.00

TP delay [ns]

TVC(C, bch) (1,7,13

pO
p1

-1 naiyyuze+ud / 25
4287+ 0.0
-36.3+ 0.0

TP delay [ns]
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2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (1,7,2)

= po

pl

AT 1nunszze+04 /25
4253+ 0.0
-35.5+ 0.0

TP delay

TVC(cbch) (17,6

pO
p1

[ns]

“ Uy 5 5e+U5 / 25
4291+ 0.0
-36.81+ 0.00

TP delay

TVC(ebeh)=(1, 7, 10

pO
pl

[ns]

1o, 148e+U5 / 25
4279+ 0.0
-35.74 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 7

pD
pl

14

1 nuip,394e+04 | 25
4280+ 0.0
-35.36 + 0.00

P
100

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (1,7,3)

e po

AT rnuzuzse+ud [ 25
4272+ 0.0
pl -36.55+ 0.00

TP delay [ns]
TVC(c,b ch) (1, 7 )
-1 nug boge+u4d / 25
= pO 4281+ 0.0
pl -37.23+ 0.00
e 4
1 1 -'
50 100
TP delay [ns]

TVC(cbch) (1, ? 11

po
pl

1 . 84ae+U5 / 25
4289+ 0.0
-36.37 + 0.00

1
100

50
TP delay [ns]
TVC(c,b ch) (1, 7 15

T nui z3ve+u5 [ 25
4287+ 0.0
-35.56 + 0.00

1
100

TP delay [ns]
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1000
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1000
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3000

2000

1000

TVC(cbch) (1,8,0)

b po

A7 nui rsye+u4 /25
4232+ 0.0
pl -35.94 + 0.00

TP delay

TVC(cbch) (18,4

[ns]

- 1 i B8be+u4 / 25
4274+ 0.0
pl -37.78 + 0.00

= pO
[ C=26.47 [psl/c ]
5(‘) 100 =
TP delay [ns]
TVC(cbch) (1 8,8) —
T nug 194e+U4 5
=, po 4264:‘
pl -36.53+ 0.00

TP delay

TVC(cbch) (1,812

pO

[ns]

T 1ure+Us /25
4296+ 0.0
pl -36.43+ 0.00

PR B SRS |
50 100

TP delay

[ns]
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2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,8,1)

e, po

AT 1L BBse+u4 [ 25
4261+ 0.0
-37+ 0.0

p1

TP delay

TVC(c,b ch) (1, 8

[ns]

-1 nuz.03Ye+u4 / 25
4265+ 0.0
pl -37.29 % 0.00

TP delay

TVC(c,b ch) (1 8,9

po

[ns]

T nu,133e+U5 / 25
4284+ 0.0
pl -36.07 + 0.00

1
50 100

TP delay

TVC(C, bch) (1,813

pO

[ns]

Tonun gB3e+ud [ 25
4276+ 0.0
pl -35.21+ 0.00

TP delay

[ns]
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1000
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2000

4000

3000
2000

1000

TVC(cbch) (1,8,2)

1000

= po

A~ L roe+V4 /25
4264+ 0.0
-36.59 + 0.00

pl

TP delay [ns]

TVC(cbch) (1,8,6

X1

=, po
p1

2.8e+04 /25
4268+ 0.0
-36.99 + 0.00

TP delay [ns]

TVC(cbch) (1, 8 10

1000

0

© 1L 153e+U6 / 25
4290+ 0.0
-35.9+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,8 14

pD
pl

~1nuiLz44e+05 / 25
4295+ 0.0
-36.95+ 0.00

TP delay [ns]
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1000

TVC(c,b ch) (1,8,

A

e po
pL

3

nuiz,341e+U4 / 25
4268+ 0.0
-36.71+ 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

-

nug.4upe+u4 / 25
4269+ 0.0
-37.09 + 0.00

= po
pL
FC -
1 |
50 100
TP delay [ns]

TVC(c,b ch) (1, 8

pO
pl

Ty, az::e+u5/25
4285+ 0.0
-35.87 + 0.00

1
100

50
TP delay [ns]
TVC(c,b ch) (1,8,15

X1

nui 53ve+Us / 25
4293+ 0.0
-35.74+ 0.00

1
100

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

TVC(cbch) (1,9,0)

A7 onun g gre+ud [ 25
e po 4254+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (1,94

T a6 rye+ud / 25
- pO 4269+ 0.0
p1 -36.24 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 9,8

T 1nuz.452e+04 | 25
s, 4236+ 0.0
-33.9+ 0.0

4000

3000 T

2000 = T

oo C = 29.50 [ps/ch] ™, 7

; % o
TP delay [ns]
TVC(c,b ch) (1, 9 12
4000

3000

2000

1000

~ 1L 5use+U5 / 25
pO 4261+ 0.0
pl -34.69 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (1,91

AT 1 nuLy1se+ud [ 25
e po 4264+ 0.0
pl -35.79+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

-1 nui gz1e+u4 / 25
- pO 4284+ 0.0
pL -36.69+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

~ 1 nug.Usze+us / 25
- po 4266+ 0.0
p1 -34,58 £ 0.00

TP delay [ns]

TVC(C, bch) (1,9,13

T nuws134e+U4 / 25
pO 4250+ 0.0
pl -34.09 + 0.00

TP delay [ns]
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1000
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3000

2000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (1,9,2)

TP delay [ns]

TVC(cbch) (19,6

1000

A~ 1 nuz.guse+ud / 25
_- po 4261+ 0.0
o pl -36.19+ 0.00

3000

- 1L Bole+ud / 25
- pO 4290+ 0.0
[ pl -36.91+ 0.00

TP delay [ns]

TVC(cbch) (1, 9 10

© 1 nuy 3o4e+Us / 25
I po 4280+ 0.0
L p1 -35.42 % 0,00

TP delay [ns]

TVC(cbch) (1,914

1000

T 11ye+us / 25
free, pD 4257+ 0.0
[ p1 -35.25+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (1,9,3

AT 1z, 130e+u4 [ 25
- po 4297+ 0.0
p1 -38.04 + 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

-1 nug buse+u4 / 25
- pO 4292+ 0.0
pL -35.98+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

T 1b4e+u6/25
pO 4267+ 0.0
pl -33.93+ 0.00

TP delay [ns]

TVC(C, bch) (1,9,15

T nui b3se+us [ 25
4263+ 0.0
-34.2+ 0.0

TP delay [ns]
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3000
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1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

©rnuiLbuve+u4 / 25
- pO 4256+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (1,104

- 1 nuiL bage+ud / 25
- pO 4242+ 0.0
p1 -34.41% 0.00

[ C =29.07 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

1 nu.gase+U4 / 25
= po 4290+ 0.0
pl -37.21+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

Ty zae+u5/25
e po 4277+ 0.0
pl -33.83+ 0.00

[ C =29.56 [ps/ch] ™.
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50 100

TP delay [ns]
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1000
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1000

4000 [
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1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

A7 1 nuiLbb4e+U4 [ 25
- po 4273+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

“nui rz3e+04 / 25
e pO 4244+ 0.0
pL -35.08+ 0.00

TP delay [ns]

TVC(ebeh)=( 1, 10,9

<1 nuig 300e+U5 / 25
po 4290+ 0.0
pl -35.88 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (110,13

T inupBLie+ud [ 25
= pO 4281+ 0.0
p1 -32.9+ 0.0

[ C =30.39 [ps/ch] ™= <]
 USE——T .
TP delay [ns]
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2000

1000
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3000
2000

1000

0

4000
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2000

1000

TVC(CbCh) (1,10,2)

A~ 1 nui ooye+ud / 25
__— po 4258+ 0.0
N p1 -34.88 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

-1 Ui B8be+u4 / 25
e pO 4263+ 0.0
X pl -35.31¢ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

~ 1 nuy.518e+U5 / 25
F DO 4302+ 0.0
- pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (110,14

T 1nug,130e+04 / 25
__ DD 4284+ 0.0
L pl -34.86 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT 1 nuiLysoe+ud [ 25
=3 po 4254+ 0.0
p1 -34.58 + 0.00

[ C =28.92 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (1,10,7

“nun 3oye+ud [ 25
- pO 4275+ 0.0
pL -35.66+ 0.00

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

<1 nuiL 5Upe+U6 / 25
= po 4327+ 0.0
pl -38.04 + 0.00

TP delay [ns]

TVC(cbch) (1,10,15

~ 1 nuy.yble+ud / 25
4266+ 0.0
-33.62+ 0.00

[ C=29.75 [ps/ch] > 1

PR PR S S |
50 100

TP delay [ns]
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4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (1,11,0)

X~ 1w buse+U4 [ 25
= po 4263 0.0
p1 -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 4

i/ 1e+u4 [ 25
== po 4265+ 0.0
pl -35.76 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,11,8

S Ui od1e+ud [ 25
- po 4288+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c,b Ch) (1,11,12

X~ 1 r37e+U5 /25
po 4297+ 0.0
pl -35.96 + 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (1,11,1)

AT 1L, rzze+u4 [ 25
= po 4271+ 0.0
p1 -36.4 % 0.0

TP delay [ns]

TVC(c,b Ch) (1, 11 5

-1 nuiL yole+ud / 25
- pO 4261+ 0.0
pL -36.01% 0.00

50 150
TP delay [ns]

TVC(cbch) (1,11,9

~ 1 nuiz.z45e+U5 / 25
po 4315+ 0.0
p1 -37.55+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 13

1 nuiLyyve+u5 / 25
pO 4297+ 0.0
p1 -36.49+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (1, 11 2)

-1 nu,141e+04 [ 25
P, pO 4287+ 0.0
[ p1 -37.27+ 0.00

3000

TP delay [ns]

TVC(c,b Ch) (1, 11 6

-1 nuz,u8ye+ud [ 25
- pO 4281 0.0
[ pl -36.07 + 0.00

TP delay [ns]

TVC(e.b,ch)=(1, 11, 10

X~ 1 i 208e+U6 / 25
= po 4319+ 0.0
N p1 -36.66 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 14)

~ruan y.ave+ud [ 25
pD 4294+ 0.0
pl -37.24.+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(CbCh) (1,11,3)

A~ 1 nuizugbe+ud | 25
e po 4287+ 0.0
pL -36.31+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 7

~ 1 nub.u4ze+04 [ 25
po 4289+ 0.0
p1 -35.94+ 0.00

TP delay [ns]

TVC(Ebeh=(1, 11, 11

T nuiLo/oe+u6 / 25
k. pO 4322+ 0.0
p1 -36.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 15

T inuiru1e+U5/ 25
pO 4304+ 0.0
p1 -37.4% 0.0

TP delay [ns]
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1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T rnuiLgz1e+04 /25
4212+ 0.0
-34.69 + 0.00

TP delay [ns]

TVC(cbch) (1,124

-1 i bYze+ud / 25
- pO 4230 0.0
pl -35.16+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 12,8

1 nuz.4n8e+04 | 25
= po 4255+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (1,12,12

-1 nuiLuype+Us / 25
pO 4249+ 0.0
pl -34.87 + 0.00

TP delay [ns]
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3000
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2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (1,12,1)

e, po

AT 1 nuiLsbye+ud [ 25
4221+ 0.0
pl -35.13+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,125

~nu ryze+u4d [ 25
pO 4243+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

1 nuiz zgye+us / 25
4256+ 0.0
-34.2+ 0.0

1
100

TP delay [ns]

TVC(cbch) (112,13

Tinung/3e+ud [ 25
pO 4250+ 0.0
p1 -35.8+ 0.0

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

XL 9Lierud ] 25
= po 4266 + 0.0
p1 -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,7

S nuB.Y3/e+ud / 25
pO 4253+ 0.0
p1 -35.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

RIS z/ue+u6/25
po 4306+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3 15

T nuis 120e+U5 / 25
e, pO 4283+ 0.0
p1 -35.86+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,4,0)

X~ 1w syoe+U4 [ 25
po 4262+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (24,4

-1 bsze+ud [ 25
4268+ 0.0
-35.8+ 0.0

50 10'0
TP delay [ns]

TVC(ebch)=(2,4,8

- 1 huiz.dyse+ud [ 25
po 4307+ 0.0
p1 -38.29+ 0.00

TP delay [ns]

TVC(cbch) (2,4,12

Srnu 1e+us ) 25
po 4298+ 0.0
pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,1)

[ C =29.02 [ps/ch]

A~ 1 nuiLbove+u4 / 25
po 4247+ 0.0
p1 -34.46 + 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 4,5

~ 1 nui /63e+u4 [ 25
pO 4277+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (24,9

-1 nug Usye+us / 25
pO 4314+ 0.0
p1 -37.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 4 13

T nuiLu3sbe+us / 25
pO 4285+ 0.0
p1 -34.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (2,4,2)

X~ 1L 7 (oe+U4 [ 25
F-. po 4256+ 0.0
[ p1 -35.28+ 0.00

3000

TP delay [ns]

TVC(cbch) (24,6

1000

T Lyze+04 /25
- pO 4289+ 0.0
- pl -36.77 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(2, 4, 10

T 1w y.yae+u5/ 25
po 4326+ 0.0
p1 -37.03+ 0.00

TP delay [ns]

TVC(cbch) (24,14

T g /e+Us /25
pD 4288+ 0.0
pl -35.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,4,3

A~ 1L Bsse+ud [ 25
e po 4280+ 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (2 4,7

- 1nu gg1e+ud | 25
= po 4285+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (2,4,

T ib/e+U6/25
po 4330+ 0.0
p1 -37.36+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 4 15

T inuiz1g/e+u5/ 25
po 4291+ 0.0
p1 -34.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (2,50

X~ 1w zs1e+U4 /25
= po 4273+ 0.0
p1 -35.79+ 0.00

TP delay [ns]

TVC(cbch) (2,54

- rnuiLyzye+ud / 25
- pO 4247+ 0.0
p1 -36.35:+ 0.00

4000
3000~ 7
2000 - ]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (2 5,8)
~ 1 nuib, 105e+U4 / 25
4000 [, 4269+ 0.0
-34.43+ 0.00
3000 - ]
2000 = -]
oo C = 29.05 [ps/ch] ™, 1]
1 1 -
0 50 100
TP delay [ns]
TVC(cbch) (2,5 12)
Ty zose+ud [ 25
2000 [, pO 4286+ 0.0
pl -34.74 + 0.00
3000 - 7
2000~ ]
1000~ 7]
1 1 -
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

K™ 1L 4uie+ud [ 25
= po 4266+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

=1 nui yyze+u4 [ 25
- pO 4259+ 0.0
pL -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

T nug.sye+us [ 25
- pO 4289+ 0.0
p1 -34.35+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 5 13

T nui n4ze+U5 [ 25
= 4293+ 0.0
-33.93+ 0.00

[ C =29.47 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,52)

TP delay [ns]

TVC(cbch) (2,56

X~ 1L 71/e+U4 [ 25
- po 4281+ 0.0
[ p1 -36.52+ 0.00

3000

T 1nu,bage+u4 | 25
- pO 4261+ 0.0
L p1 -35.94+ 0.00

TP delay [ns]

TVC(eb,oh)=(2, 5, 10

1000

1 nuiLybbe+U6 / 25
= po 4296+ 0.0
N p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (2,514

pD
pl

- 1L poe+Us / 25
4301+ 0.0
-34.85+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3)

po 4281+ 0.0
pL -36.72.+ 0.00

A 1nuiL 757e+ud [ 25

TP delay [ns]

TVC(c,b ch) (2 57

= po 4267+ 0.0
p1 -36.09 + 0.00

=1 nur Uz1e+u5 / 25

TP delay [ns]

TVC(c,b ch) (2, 5

E pO 4300+ 0.0
pL -34.23 0.00

g sz4e+u6/25

TP delay [ns]

TVC(c,b ch) (2, 5 15

-1 nu zlae+Us [ 25
4286+ 0.0
-34.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(cbch) (2,6,0)

K™ 1nuzulae+ud /25

po 4256+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (26,4

- i Bzye+u4 | 25

pl -36.01+ 0.00

pO
p1

- pO 4319+ 0.0
3000~ 7]
2000 - ]
1000 C 7
1 1 -
50 100
TP delay [ns]
TVC(cbch) (2,6,8)
-1 nuzglie+ud | 25
4000 fum, pD 4303+ 0.0
-34.65+ 0.00
3000~ 7]
2000~ 7]
w0 C =28.86 [ps/ch] ™, 7]
1 1 -
¢ 50 100
TP delay [ns]
TVC(cbch) (2,6,12)
T nuzysse+ud / 25
4000 4280+ 0.0
-32.79+ 0.00

3000

2000

1000

rc= 3050[ps/ch] " ]

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT nu3r4e+U4 [ 25
- po 4265+ 0.0
p1 -35.47+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

=1 i bgbe+u4 / 25
- 4320+ 0.0
-34.78 + 0.00

[ C=28.75[ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

~ i nui r34e+04 / 25
- po 4322+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (2,6,13

T inuiz 110e+ud [ 25
4286+ 0.0
-34.53+ 0.00

[ C =28.96 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (2,6,2)

A~ L roe+V4 /25
__ po 4273+ 0.0
o pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.32 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

© a2 p3oe+Us / 25
- po 4346+ 0.0
[ -36.3+ 0.0

T UL b oe+ud [ 25
- pO 4315+ 0.0
[ -35.31¢ 0.00

TP delay [ns]

TVC(cbch) (2,614

Tz 13ce+u4 /25
4291+ 0.0
-35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1z osoe+ud [ 25
o po 4278+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,7

-1 nui Byye+u4 / 25
- pO 4318+ 0.0
p1 -34.73+ 0.00

[ C =28.80 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 6

T, uue+u5/25
- pO 4342+ 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

T nuiz 140e+04 / 25
P 4299+ 0.0
-34.73+ 0.00

I C =28.80 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0)

A~ 1 nui 54ye+04 | 25
po 4259+ 0.0
p1 -36.11+ 0.00

TP delay [ns]

TVC(cbch) (2,7,4

-1 nuLyuze+ud / 25
pO 4244+ 0.0
p1 -34.78:+ 0.00

[ C =28.75 [ps/ch] ]
o+ o
TP delay [ns]

TVC(cbch) (2 7,8

~ i 145e+05 / 25
pO 4266+ 0.0
-35.25+ 0.00

TP delay [ns]

TVC(Cbch) (2, 7 12

T g.08e+U5/ 25
pO 4275+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,7,1)

A7 1 nuiLbzoe+ud / 25
po 4267+ 0.0
p1 -36.58 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

-1 nu 1b4e+04 / 25
4246+ 0.0
-34.8 % 0.0

TP delay [ns]

TVCEebeh)=(2,7, 9

T 1 nu.445e+U5 / 25
po 4272+ 0.0
pl -34,55 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 7 13

T inuizgu/e+us [ 25
pO 4267+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

4000

2000

4000
3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

1000

1000

TVC(cbch) (2,7,2)

A~ 1 nuz041e+04 | 25
=, po 4281+ 0.0
L pl -37.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

- g b1ze+ud [ 25
pO 4275+ 0.0
p1 -35.33+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

Tl ge+u6 / 25
po 4267+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (2,7,14

T nuig.zose+us / 25
pD 4274+ 0.0
pl -35.86 + 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3

A 1w 91aevud | 25
e, po 4281+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

a3 /e+05 / 25
po 4268+ 0.0
p1 -35.21+ 0.00

TP delay [ns]

TVC(c,b ch) (2,7,

EEALEVX utme+u6/25
po 4283+ 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7 15

T nug.z30e+U5 / 25
po 4282+ 0.0
p1 -36.25+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

A~ 1 nui dpae+ud | 25
po 4272+ 0.0
p1 -35.23+ 0.00

TP delay [ns]

TVC(cbch) (28,4

- i b44e+04 / 25
po 4286+ 0.0
pl -34.63 + 0.00

[ C=28.88[ps/ch] ™, 1
o+ o
TP delay [ns]
TVC(cbch) (2 8,8

-1 i bose+ud 1 25
po 4289+ 0.0
p1 -36.06+ 0.00

TP delay [ns]

TVC(cbch) (2,812

~ g, po4e+U5 / 25
pO 4320+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,1)

AT 1 nuiL5/oe+u4 [ 25
po 4290+ 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (2 8,5

[ C=29.59 [ps/ch] ™ 7

~1nui4y/e+u4 [ 25
pO 4281+ 0.0
p1 338+ 0.0

50 150
TP delay [ns]

TVC(c,b ch) (2 8,9

T nug 318e+U5 / 25
po 4291+ 0.0
p1 -35.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 8 13

T nuiL bzve+u5 / 25
pO 4304+ 0.0
p1 -36.17 + 0.00

TP delay [ns]

TVC(cbch) (2,8,2)

4000

2000

1000

X~ 1 nuiLBule+U4 [ 25
- po 4293+ 0.0
[ p1 -35.25+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,86

4000

3000

2000

1000

- C =29.20 [ps/ch] .

50 10'0
TP delay [ns]

TVC(eb,oh)=(2, 8, 10

4000

3000

2000

1000

T g 1ge+ud [ 25
- pO 4300 0.0
[ p1 -34.24+ 0.00

Srnu 1lle+us ) 25
pO 4301% 0.0
p1 -34.69+ 0.00

- C = 28.83 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(Cbch) (2, 8 14

4000
3000
2000

1000

~ g plye+Us / 25
4317+ 0.0
-36.01+ 0.00

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,3

A~ 1 nuiLYuse+ud / 25
- po 4279+ 0.0
pL -33.76 + 0.00

[ C=29.62[ps/ch] ™ 1
L L

TP delay [ns]

TVC(c,b ch) (2 8,7

= Ui Sy3e+us / 25
[es po 4313+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T baue+u6/25
4318+ 0.0
-35.4+ 0.0

TP delay [ns]

TVC(c,b ch) (2, 8 15

Tonan s 73e+U5 /25
= po 4328+ 0.0
p1 -37.3% 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(cbch) (2,9,0)

b po

X~ 1w bzbe+U4 [ 25
4214+ 0.0
-35.15+ 0.00

pl

TP delay [ns]

TVC(cbch) (2,94

- rnuz,0z3e+u4 [ 25
4263+ 0.0
-37.33% 0.00

e pO
pl
- C =
o =
TP delay [ns]
TVC(c,b ch) (2, 9 8
= pD

-1y 3ove+u4 [ 25
4262+ 0.0
-35.48 + 0.00

TP delay [ns]

TVC(cbch) (2,9,12

po
p1

T rnuiLguLe+Us / 25
4259+ 0.0
-36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,9,1)

- po

AT nuiLBsbe+u4 /25
4232+ 0.0
pl -37.17+ 0.00

TP delay

TVC(c,b ch) (2 9,5

[ns]

“nu.z3le+u4 [ 25
4269+ 0.0
pl -37.98 + 0.00

TP delay

TVC(c,b ch) (2 9,9

po

[ns]

T nu Zbze+U5 [ 25
4271+ 0.0
p1 -35.15+ 0.00

TP delay

TVC(c,b Ch) (2, 9 13

[ns]

T inuizg/e+u5 /25
4253+ 0.0
p1 -35.93+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000 =,
3000
2000

1000

TVC(cbch) (2,9,2)

b po

pl

X~ 1L B1oe+u4 [ 25
4235+ 0.0
-35+ 0.0

TP delay [ns]

TVC(cbch) (29,6

e pO

p1

- rnugzye+u4 [ 25
4260+ 0.0
-36.02 + 0.00

TP delay [ns]

TVC(eb,oh)=(2, 9, 10

pO

pl

1 nuy.8yse+Us / 25
4287+ 0.0
-35.11 + 0.00

TP delay [ns]

TVC(cbch) (2,914

pD
pl

-1 gr4e+U5 | 25
4265+ 0.0
-36.89 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3)

B po

A~ 1 nuiz0sse+ud [ 25
4218+ 0.0
-34.79:+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 9,7

=1 U Yyve+u4 / 25
4291+ 0.0
-37.94+ 0.00

o pO
pL
- C =
1 1 -'-
50 100
TP delay [ns]

TVC(c,b ch) (2, 9

T 155e+u6/25
4284+ 0.0
-35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (2,9,15

FERALT

1u7e+u5/ 25
4258+ 0.0
-36.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000
3000 [ ]
2000 - ]
woor C = 28.54 [ps/ch] ]
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 10 8)
© 1 nu z9se+u4 / 25
4000, pD 4277+ 0.0
p1 -36.16+ 0.00
-
3000~ 7]
2000 ]
1000 = 7
1 i
¢ 50 100

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T r3se+U4 /25
- pO 4225+ 0.0
p1 -35.84 + 0.00

TP delay [ns]

TVC(Cbch) (2, 10 4

- i bole+ud / 25
- pO 4254+ 0.0
p1 -35.04 + 0.00

TP delay [ns]

TVC(Cbch) (2, 10 12

~ g, zove+Us / 25
= po 4292+ 0.0
pl -35.43+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

A~ 1 huiLbbse+ud / 25
- po 4225+ 0.0
p1 -34.65 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 5

~ i br3e+ud [ 25
- pO 4252+ 0.0
p1 -34.34+ 0.00

[C=29.12 [ps/ch]

50 150
TP delay [ns]

TVC(ebeh)=(2, 10,9

T naiyyrae+U5 [ 25
- pO 4293+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

T inuiLyroe+u5 /25
fovase pO 4290+ 0.0
p1 -36.22+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (2,10,2)

X~ 1L y0/e+ud [ 25
-, po 4252+ 0.0
L p1 -36.69 + 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 10 6

Tanu 2/e+u4 /25
- pO 4287+ 0.0
[ pl -35.87 + 0.00

TP delay [ns]

TVC(e,beh)=(2, 10, 10

1 nuiL3uYe+U6 / 25
po 4320+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 14

-1 nuiLgose+Us / 25
-, pD 4290+ 0.0
L pl -35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

S 7 swU5 /25
- pO 4254+ 0.0
pL -36.02. 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

= nuiL122e+05 / 25
po 4282+ 0.0
p1 -35.69 + 0.00

TP delay [ns]

TVC(eh.eh)=(2, 10, 11

~ 1 nuiL bbYe+us / 25
pO 4327+ 0.0
p1 -37.18+ 0.00

TP delay [ns]

TVC(cbch) (2, 10 15

-1 nuiz sboe+us / 25
4283+ 0.0
-34.4+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A~ 1 nuiayye+ud 25
4234+ 0.0
p1 -35.45+ 0.00

TP delay

TVC(cbch) (2, 11 4

[ns]

-1 nuiL4pze+04 / 25
4244+ 0.0
-34.67 + 0.00

- pO
pl
[ C =28.84 [ps/ch]™_ 7]
o+ o
TP delay [ns]
TVC(c,b, ch) (2, 11 8)
T rnu z1be+u4 / 25
== pD 4271+ 0.0
pl —36.51&;‘

TP delay

TVC(c,b Ch) (2,11,12

[ns]

X~ 1y rupe+U5 / 25
PO 4288+ 0.0
pl -35.29+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

e, po

AT 1 nuiLb1oe+u4 [ 25
4250+ 0.0
p1 -36.02+ 0.00

TP delay

TVC(c,b Ch) (2, 11 5

[ns]

=1 B3be+u4 / 25
4253+ 0.0
pl -35.56 + 0.00

TP delay

TVC(eh.eh)=(2, 11, 9

po

[ns]

T nuw, 748e+U5 / 25
4283+ 0.0
p1 -35.74.+ 0.00

1
50 00

TP delay

TVC(c,b ch) (2, 11 13

pO

[ns]

-1 nuiL zyoe+u5 / 25
4288+ 0.0
p1 -35.13+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000

2000

4000
3000
2000

1000

TVC(CbCh) (2, 11 2)

= P°

- i, Soe+u4d [ 25
4259+ 0.0
p1 -36.16 + 0.00

TP delay

TVC(chh) (2, 11 6

- P°

[ns]

T o, 133e+04 / 25
4262+ 0.0
pl -35.75+ 0.00

TP delay

TVC(ebch)=(2, 11, 10

1000

[ns]

X~ 1L 317e+06 / 25
po 4288+ 0.0
p1 -34.65+ 0.00

TP delay

TVC(c,b Ch) (2, 11 14

pD

[ns]

)

Ty ge+u5 /25
4298+ 0.0
pl -36.04 + 0.00

TP delay

P R T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

o po

A 1L ra8e+U4 [ 25
4259+ 0.0
p1 -35.76 + 0.00

TP delay

TVC(CbCh) (2, 11 7

E pO
pl

[ns]

<1 nup,411e+04 / 25
4270+ 0.0
-35.65+ 0.00

TP delay

TVC(Ebeh=(2 11, 11

1 nuiLzyae+U6 / 25
4274+ 0.0
p1 -34.84+ 0.00

pO

[ns]

TP delay

TVC(c,b Ch) (2, 11 15

[ns]

-1 nuiz suse+u5 / 25
4290+ 0.0
p1 -35.57 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 2, 12,0)

T X zer04)25
- po 4257 0.0
Pl -37.08+ 0.00

TP delay [ns]

TVC(cbch) (2,124

- i, r94e+04 / 25
- pO 4278+ 0.0
Pl -36.12 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

T rnug.uroe+u4 | 25
- PD 4258+ 0.0
-34.68 + 0.00

I C =28.84 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (212,12

~ 1 nuiL og4e+U5 / 25
- pO 4301+ 0.0
pl -35.96 + 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,12,1)

A~ 1 nuiLyuYe+u4 / 25
- po 4270 0.0
Pl -38.04% 0.00

TP delay [ns]

TVC(cbch) (2,125

-1 nui yy4e+u4 [ 25
- pO 4290+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 12

an 4e+U5/ 25
o po 4281% 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (212,13

T g 488e+U4 [ 25
- po 42811 0.0
pl -34.68 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (2,12,2)

K™ 1wz zzye+U4 [ 25
- po 4279 0.0
I pl -37.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (2.12,6

- rnuzz1ge+u4 [ 25
=, pO 4295+ 0.0
- Pl -36.47%0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

~nuay L rge+us /25
F DO 4283+ 00
H PL_ -34.83% 0.00

TP delay [ns]

TVC(cbch) (212,14

1000

T i, szoe+U5 / 25
== PD 4298+ 0.0
I pl -35.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,12,3)

AT 1 nuiz,zove+u4 [ 25
- po 4277+ 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(c, bch) (2,12,7

- U grye+u4 / 25
PO 4326+ 0.0
pL -37.43+ 0.00

TP delay [ns]

TVC(cbch) (2, 12 1

~ oy r4e+U5 1 25
F p0 4286+ 0.0
Pl -34.85: 0.00

TP delay [ns]

TVC(cbch) (212,15

T 1zre+U5 /25
pO 4286+ 0.0
pl -34.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (2, 13 0)

T rnuiLpl4e+u4 [ 25
- pO 4263+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (2,134

-1 nuz104e+04 / 25
o pO 4305+ 0.0
pl -39.91+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

1z z49e+04 | 25
= po 4262+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (213,12

T g5y e+U4 [ 25
pO 4288+ 0.0
pl -36.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (2,13,1)

AT 1L roe+u4 [ 25
po 4281+ 0.0
pl -36.37 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (2,135

-1 nu.zyle+u4 [ 25
pO 4307+ 0.0
pL -39.38+ 0.00

TP delay [ns]

TVCEebeN)=(2 13,9

~ 1 nuiLyloe+us / 25
pO 4282+ 0.0
p1 -34.64 + 0.00

1
100

TP delay [ns]

TVC(cbch) (213,13

Tinungs/e+ud [ 25
pO 4281% 0.0
pl -35.87+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (2,13,2)

K™ 1 nuiLsuie+u4 /25
_- po 4271+ 0.0
- pl -36.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,136

T blze+u4 [ 25
4318+ 0.0
-39.5+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (2,13,10

1 nuip, 3obe+U5 / 25
po 4289+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (213,14

T p4le+ud /25
pD 4284+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

AT 1L Bsoe+ud [ 25
- po 4285+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

-1 U Ysoe+u4 / 25
pO 4318+ 0.0
pL -38.98+ 0.00

1 -
50 100
TP delay [ns]

TVC(eheh)=(2, 13, 11

-1 nubUBe+US / 25
po 4291+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (213,15

- naiusae+ud [ 25
pO 4285+ 0.0
p1 -35.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2, 14 0)

e, po

- 1 i 4ove+u4 [ 25
4231+ 0.0
-35.5+ 0.0

pl

TP delay [ns]

TVC(Cbch) (2, 14 4

-1 nuz,uzae+ud | 25
4242+ 0.0
-36.74 + 0.00

e pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 14 8)
-1 g, 3o8e+u4 / 25
= pO 4286+ 0.0
-37.3+ 0.0

p1

TP delay [ns]

TVC(Cbch) (2, 14 12

po
p1

T rnuiLprye+Us / 25
4268+ 0.0
-35.53+ 0.00

L n n n n 1 n
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2, 14 1)

e, pO

-1 nuipave+ud [ 25
4235+ 0.0
-35.87 + 0.00

p1

TP delay [ns]

TVC(c,b Ch) (2, 14 5

-1 nui gzye+u4 [ 25
4271+ 0.0
-37.16+ 0.00

TP delay [ns]

TVCebeh)=(2, 14,9

pO
pl

T nai zobe+u5 [ 25
4302+ 0.0
-37.11+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

— pO

p1

-1 nuiLqyge+U5 / 25
4271+ 0.0
-36.92+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000 =,
3000
2000

1000

1000

0

TVC(CbCh) (2,14,2)

=, PO

A~ 1 nuiL ooae+ud / 25
4234+ 0.0
p1 -35.66+ 0.00

TP delay

TVC(Cbch) (2, 14 6

[ns]

- rnuiL, r9ve+u4 | 25
4274+ 0.0
pl -36.42 + 0.00

F= PO
[ C =27.46 [ps/ch
5(') 10'0
TP delay

TVC(e b eh)=(2, 14,10

pO
pl

[ns]

1 nuiLuYbe+U6 / 25
4310+ 0.0
-36.96 + 0.00

1
100

TP delay

TVC(c,b Ch) (2, 14 14

T szze+05 / 25
4267+ 0.0
pl -36.07 + 0.00

pD

[ns]

TP delay

P B T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

e po

A~ 1 nuiLb8re+ud [ 25
4237+ 0.0
pL -34.63+ 0.00

TP delay

TVC(c,b Ch) (2, 14 7

C po
pl

[ns]

- 1nug 3r0e+04 / 25
4269+ 0.0
-35.94+ 0.00

TP delay

TVC(ehch)=(2, 14, 11

[ns]

T nuiL193e+U6 / 25
4313+ 0.0
-37.26 + 0.00

TP delay

TVC(cbch) (2, 14 15

e pO
p1

[ns]

71 nuiz sove+u5 / 25
4266+ 0.0
-35.7+ 0.0

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2, 15 0)

T rnuLssoe+u4 [ 25
poee, pO 4232+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (2,154

T rnuLg/re+u4 [ 25
- pO 4247+ 0.0
pl -35.56+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

T g, ghae+u4 [ 25
- po 4270+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

~1nuy,149e+04 / 25
pO 4274+ 0.0
pl -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000 5,

3000

2000

1000

TVC(chh) (2,15,1)

AT rnuLsrie+ud /25
Foee. po 4243+ 0.0
pl -35.44+ 0.00

TP delay [ns]

TVC(cbch) (2,155

- 11U yoae+u4 [ 25
= 4242+ 0.0
-34.57 + 0.00

[ C =28.93 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(ebeh)=(2 15,9

~ 1 nug 159e+U5 / 25
po 4290+ 0.0
pl -35.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (215,13

T nup.s39e+ud 25
pO 4263+ 0.0
pl -34.76 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (2, 15 2)

T rnuiLyrse+ud [ 25
__— pO 4248+ 0.0
L pl -35.49 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

Tz 1z/e+04 /25
e pO 4258+ 0.0
[ pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

© 1 nuy 318e+U5 / 25
F DO 4318+ 0.0
- pl -37.21+ 0.00

TP delay [ns]

TVC(cbch) (2.15,14

- 1 abe+u5 ] 25
pD 4278+ 0.0
pl -35.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

ATz usre+ud [ 25
P po 4254+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c, bch) (2,157

-1 U BYse+u4 [ 25
- pO 4269+ 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(ebch)=(2, 15, 11

T nu, r22e+U5 / 25
po 4288+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (2,15,15

T nuizusle+us / 25
4262+ 0.0
-33.12+ 0.00

[ C=30.19 [ps/ch] ™=, ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

1000
N 1
ot 1
wof C = 29.50 [ps/ch] ™, 7

0 5:) 10'0 -

4000

3000

2000

1000

TVC(cbch) (3,0,0

A~ 1 nui Seoe+u4 [ 25
= po 4265+ 0.0
p1 -37.99+ 0.00

TP delay [ns]

TVC(cbch) (3,0,4

< rnun ZUse+ud [ 25
== po 4276+ 0.0
pl -37.48 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3,0,8

_ '1||u|¢4(e+u4/25
= 4223+ 0.0
-33.9+ 0.0

TP delay [ns]

TVC(cbch) (3,0,12

~ i 1use+us / 25
= po 4290+ 0.0
pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,01

AT 1nuz1o1e+u4 [ 25
- po 4233+ 0.0
p1 -36.53 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

~ 1 nu 245e+04 [ 25
- pO 4267+ 0.0
pL -36.59+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

~ 1 nug.ay3e+Us / 25
pO 4262+ 0.0
p1 -34.54 + 0.00

[ C =28.95 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, O 13

~ 1 nuy.poube+u4 / 25
= pO 4279+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

4000

2000

4000

3000

2000

:
10005— C =29.55 [ps/ch] ™, '
.

4000

3000
2000

1000

TVC(cbch) (3,0,2)

1000

TP delay [ns]

TVC(cbch) (3,06

1000

X~ 1wz 4o4e+04 [ 25
- po 4253+ 0.0
L pl -37.06 + 0.00

3000

- 1nugoze+u4 | 25
- pO 42911 0.0
[ pl -37.94+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

— ~1nuy.y31e+Us / 25
-, po 4247+ 0.0
L pl -33.84+ 0.00

TP delay [ns]

TVC(cbch) (3,0,14

1 nuy pzye+u4 [ 25
- pD 4290+ 0.0
[ pl -36.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3

A~ 1z 3o3e+ud [ 25
- po 4261% 0.0
pL -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

-1 nug gzoe+ud | 25
= po 4298+ 0.0
p1 -37.86 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, O

- ERALUR 4z/e+u5/25
- pO 4257+ 0.0
p1 -34.57 + 0.00

I C =28.93 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, O 15

T nuib1ve+u5 /25
=3 4271+ 0.0
-34.57 + 0.00

[ C =28.92 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

A~ 1 nui Yvae+ud [ 25
= po 4240+ 0.0
p1 -37.06 + 0.00

TP delay [ns]

TVC(cbch) (31,4

= 1wz Osbe+ud [ 25
== po 4258+ 0.0
pl -35.98 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 1,8

< s Suve+ud 1 25
e, pD 4247+ 0.0
p1 -35.31 0.00

TP delay [ns]

TVC(cbch) (31,12

T rnuiLyz/e+U5 /25
= po 4266+ 0.0
pl -34.56 + 0.00

[ C =28.93 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1)

AT 1 nuz,1use+u4 25
po 4247+ 0.0
p1 -36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

=1 nu 2yse+u4 [ 25
pO 4246+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

~ 1 nuiLg14e+U5 / 25
pO 4253+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, l 13

1 nurs zyve+ud | 25
4279+ 0.0
-36.61+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

X~ 1 iz Os3e+u4 [ 25
- po 4238+ 0.0
L pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,1,6

T nu,Z1ge+u4 | 25
e pO 4265+ 0.0
- pl -36.12 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(3, 1, 10

~ 1 nuig.uy1e+Us / 25
- po 4244+ 0.0
L p1 -34.76 + 0,00

3000

TP delay [ns]

TVC(cbch) (31,14

T 1nuy.y4ze+04 | 25
- pD 4264+ 0.0
L p1 -35.57 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

A 1z 1aaerud | 25
o po 4260+ 0.0
p1 -36.07+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

= 1 nug goye+ud | 25
= po 4277+ 0.0
p1 -36.53+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (3, l

- AR zue+u5/25
= po 4263+ 0.0
pl -36.03 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

T nuiL oo /e+u5 /25
- po 4273+ 0.0
p1 -35.12 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

A7 1 nui puse+ud / 25
- po 4227+ 0.0
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T g3 /e+ud [ 25
- pO 4235+ 0.0
p1 -35.47+ 0.00

50 10‘0
TP delay [ns]
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T 1nuz344e+04 [ 25
4279+ 0.0
-35.6+ 0.0
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~ i z4se+05 / 25
pO 4281+ 0.0
-35.38+ 0.00
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pl -36.67 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nu 1uze+u4 / 25
e, pO 4262+ 0.0
p1 -36.84 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

-1 nuiLgule+us / 25
- pO 4292+ 0.0
pl -36.33 + 0.00
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X1 oyerud ] 25
po 4283+ 0.0
pl -35.7 + 0.0
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- pO 4260+ 0.0
3 pl -36.31¢ 0.00
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1L 20ze+06 / 25
il po 4326+ 0.0
o pl -37.99.+ 0.00
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~ 1o, r18e+04 | 25
I pD 4275+ 0.0
L pl -35.27 + 0.00
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-1 nug Zoae+u4 [ 25
4264+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(c,b ch) (3, 2

Ty, 51/e+u5/25
- pO 4319+ 0.0
pl -37.08 + 0.00
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TVC(C, bch) (3,215

Tnui131e+U5/ 25
pO 4289+ 0.0
p1 -35.22+ 0.00
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TVC(cbch) (3,34

- i b1ye+ud / 25
= pO 4265+ 0.0
p1 -34.18+ 0.00

[ C =29.26 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

T nuig,13ve+u4 / 25
= po 4268+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (3,312

-1 zobe+U5 / 25
pO 4287+ 0.0
pl -35.79+ 0.00
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P, po 4256 + 0.0
pL -36.49 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

- nuiB3/e+u4 / 25
4280+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (3 3,9

-1 nuig.uge+us / 25
po 4273+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(C, bch) (3,313

T 1 nuy.yove+ud / 25
pO 4290+ 0.0
pl -35.92+ 0.00
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TVC(cbch) (3,36

1000

- rnuz.410e+04 / 25
- pO 4289+ 0.0
[ pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (3, 3 10

~ 1 nuy, r52e+05 / 25
I DO 4298+ 0.0
I pl -35.42+ 0.00
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TVC(cbch) (3,314

T g psze+ud | 25
F pD 4274+ 0.0
L p1 -35.88+ 0.00
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p1 -34.55+ 0.00
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& o
TP delay [ns]
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b p0 4298+ 0.0
pL -36.47 + 0.00

g ube+u6/25

TP delay [ns]

TVC(C, bch) (3,315

F pO 4295+ 0.0
pL -36.4 + 0.0

i z44e+05 / 25

TP delay [ns]
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K™ 1nui r40e+04 [ 25
po 4253+ 0.0
p1 -36.67 + 0.00

TP delay [ns]

TVC(cbch) (34,4

- UL ob3e+u4 / 25
po 4287+ 0.0
pl -36.04 + 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (3 4,8

-1y a91e+U4 25
pD 4264+ 0.0
p1 -34.29.+ 0.00

TP delay [ns]

TVC(cbch) (3,4,12

T rnuzyzze+05 / 25
4291+ 0.0
-36.4+ 0.0

L n n n n 1
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AT 1 nuiLBULe+U4 / 25
po 4249+ 0.0
p1 -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

= nur 1bye+u4 [ 25
po 4292+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

<1 nuiLguye+u6 / 25
po 4277+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 4 13

~ 1 nuiL poye+u5 / 25
pO 4280+ 0.0
-37.22+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,4,2)

X~ 1 1L Yope+u4 / 25
po 4245% 0.0
p1 -35.77+ 0.00
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TVC(cbch) (34,6

- rnug,y3e+ud / 25
pO 4301 0.0
p1 -37.36+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 4, 10

© 1 nuz,164e+U06 / 25
po 4282+ 0.0
p1 -35.54  0.00

TP delay [ns]

TVC(cbch) (3,4,14

~ 1z, 103e+U5 / 25
4278+ 0.0
-36.81+ 0.00
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A~ 1 nuiLYzoe+ud [ 25
o, po 4265+ 0.0
pL -36.82:+ 0.00
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TVC(c,b ch) (3 4,7

-1y B3be+u4 / 25
pO 4304+ 0.0
p1 -35.91% 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

Ty ase+u6/25
pO 4287+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15

T nuis 119e+U5 / 25
po 4279+ 0.0
-36.03+ 0.00

TP delay [ns]
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AT 1nuioize+V4 /25
po 4259+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (3,54

T 1L, 74ze+04 | 25
pO 4271 0.0
p1 -35.34+ 0.00

TP delay [ns]
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[ C =28.61 [ps/ch]

T g zzze+04 | 25
po 4296+ 0.0
-34.95+ 0.00
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po 4285+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

[ C =28.85 [ps/ch] 7]

-1 nui 74pe+04 [ 25
4260+ 0.0
-34.67 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

[ C =28.37 [ps/ch]

-1 nugyuze+us / 25
po 4321+ 0.0
pl -35.25+ 0.00
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1
100

TP delay [ns]

TVC(C, bch) (3,5,13

T nai szve+u5 [ 25
pO 4339+ 0.0
p1 -36.7 £ 0.0

TP delay [ns]

TVC(cbch) (3,5,2)
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K™ 1 nuiL yzoe+u4 /25
__ po 4290+ 0.0
- pl -35.87 + 0.00
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- C = 29.11 [ps/ch]

-1z, 015e+04 / 25
fo, pO 4263+ 0.0
[ pl -34.35+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10
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- po 4330+ 0.0
L pl -34.76 + 0.00
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- pD 4339+ 0.0
L pl -36.73+ 0.00
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s, po 4298+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

[ C =29.15 [ps/ch]

S nug.4n/e+ud /25
- pO 4274+ 0.0
p1 -34.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

S 1be+u6/25
- po 4335+ 0.0
-34.86 + 0.00

[ C=28.69 [ps/ch] . ]

50
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TP delay [ns]

TVC(C, bch) (3,5,15

T inuiz.z4/e+U5/ 25
- pO 4351% 0.0
p1 -36.82+ 0.00

TP delay [ns]
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po 4230+ 0.0
-34.14 + 0.00
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TP delay [ns]
TVC(cbch) (3 6,4

- 1 1uiL440e+04 / 25
po 4299+ 0.0
-36.7+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

T nuiLUL1e+u5 / 25
pO 4286+ 0.0
pl -36.53 + 0.00

TP delay [ns]

TVC(Cbch) (3, 6 12

~ g zive+Us / 25
pO 4272+ 0.0
pl -35.03+ 0.00
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TP delay [ns]

TVC(c,b ch) (3 6,5

= nur 1794e+04 /25
[ree, po 4316+ 0.0
pl -37.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nuiL z38e+u6 / 25
pO 4303+ 0.0
pl -36.03 + 0.00
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TVC(c,b Ch) (3, 6 13

T inuzasie+us/ 25
pO 4288+ 0.0
p1 -35.84+ 0.00
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X~ 1 1L b1obe+u4 / 25
-, po 4260+ 0.0
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TVC(cbch) (36,6

T rnuig.491e+u4 / 25
pO 4317+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

1 nuiL8E3e+U6 / 25
po 4291+ 0.0
pl -35.05+ 0.00
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TVC(Cbch) (3, 6 14

T g5/e+U5/25
pD 4300+ 0.0
pl -36.42+ 0.00
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- po 4248+ 0.0
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50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T ame+u6/25
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T nug.BU/e+U5 / 25
4290+ 0.0
-35.51+ 0.00
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